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Let us say, picking up is necessary for carrying out

Overview!'

The X 13 is asking on 72X 27 (who maintains 7117 7MX 77°pY), why is it that if
someone steals a wallet on naw he has to pay, since he was 11 the wallet 772372
before the X% MOK; let us say 7727 is ARXIT 77X and he should be 7ws. Our N1v0IN
clarifies the question.

n1voIN asks:
= 7999 NI DNV AYHYN MND NP NNAINT 20N 19929 WIaY NN

It is astounding; according to the view of the n''9 that 77771237 acquires the item

even if it was picked up less than three 2319w from the ground, what is the question

that we should say by nawa 05 2113 that XX T 77237 -
- NYYPYN NYNNN BT DNIPT P KDY

For since the 213 acquired the 0°2 before the beginning of the 799y -
- 41259 9N NYHYN NLNRYT NVYIY NXANY 1Y RNN RY NPT

For it is not considered an 779°py until he picks it up three 215w above the ground,

for less than three o°mov from the ground it is considered 712% (attached to the ground) -
=290 17 797 DN O8N 22PN (owI x,9 97 naw) SNINININA 199INTD

As X2 states in X°%1%277 P79 if he passed over it an item the size of a half dried fig,
he is 2°77 -
- 5314 YD 7919 IMINT INIY 129 113 299NNPY NN 17 )2 ON)

!'See ‘Overview’ to the previous X271 71"7 'on,
2 See *X 71"7 R,12 WP MO that according to the N" one needs to make a 7171237 of a ndY to be 711P, and see previously
on this 7Y in °X7 7"7 '01n that there is no need at all to pick up something aboveground to be fi13p, if it is in your hand.
3 Therefore as soon as he picked it up he is immediately 717 the item and is 2»n for 72°1; however the naw MoOR
begins later when he raised it more than three o°ndv, so the 72°13 MOk came before the beginning of the naw MoK,
4 See ‘Thinking it over’.
5 The ruling there is where one was 8% food the size of a N33 *¥1, he is 7w, for the X7 MY w for certain foods
is a n7aa. However if after he was X°¥1 a N3 ¥, he took out another (77X 0%¥712) N33 °¥1 and he passed it over
the first N7 °¥n7 within three 2°nov he is 20, since it is considered 27 and resting together with the first N33 *¥7,
so there is a sufficient My°w for IR¥1T 211. We see that less than three o°'nov is considered at rest on the ground, so it
cannot be an 7Py,
6 According to >Rty 12 if one walks from a >"71 into another >"717 and there was a 7"717 in between (or vice versa), so
even though he never stopped in the 7"77 (and according to the a5 he will be 7w, for there was never a fin17 in the
1"717), nevertheless he is 211 since n7 72w 7977, so it is as if he stopped in the 1"77 and that is considered a m37. The
opposite is also true that if one walked from a >"77 to a 1"77 and passing a n°9173 in between, according to the °»on
he will be 211, however according to X1y 12 he will be 7w for since "7 72W2 7277, it is considered as if he made an
*"7192 7Py and a n°on732 7man. The Rn3 on the 2"V establishes the case of 21 131 0% 217 according to ¥'"2.
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So therefore the rule should be in this case of ©°> 2113 that he should be 21, just

like according to *X1¥ 32 who maintains walking is like he is standing,’ in which

case -
- 19PYN NNV S0P INIPY 299 29907

The 9°2 213 will be 29717 since the 213 acquired it before the 79°pY began —

nBoIN answers:
= 0 25 )2y Y52 7Y ¥IWNT DNIIN 12 PYNY 13929 9IINY

And the R''2w1 says that it seemed to this questioner that the ruling of ©32 2213 (that

he is 2»17) is any manner that he stole, he will always be 27 -
:HNN N2 NPYM 3PN AW DNV NWHY M12) NINY Y913 22X Yy N 19N

Even in a case where the stolen item was lying on top of a rod, which is three
a°rew high above the ground in which case the %@ of 712°13 and the 793Py for naw

happen simultaneously. Therefore the x7n3 properly asks, why is he 2n1, we should say 77337
ARYNT L.

Summary
According to the "7 who does not require 2°1dv "3 for PIp (while 77°pY requires '

omov), we need to say that the ruling of ©°> 2111 is (even) where he picked it up from
a rod which was o°rov '3 aboveground.

Thinking it over
nMvoIN maintains that if the item is less than three 2n9Yv from the ground it is not

considered an 77°py.° How can we then explain the X9°0 of the Xn>>2 that 1w 7o'
N2aWw MoK AW 121 X¥; seemingly why is there a 21°17 since there never was an 77°pY
" v 2110

" moon finds it necessary to cite X1y 13, for otherwise there may be a difficulty with n1901n question; granted that the
naw arn begins only after he lifted it more than three o°rov, but nevertheless in order to lift it up o°rdv '3 he had to first
lift it of the ground (when the 11 was accomplished) so we should say here also 7Xx17 771 77237, and he should be
7. Therefore Moo cites *X1y 12 where we could seemingly argue that even though the 77°py begins with the last
step out of the >"717, nevertheless he could not take this step unless he took the previous steps so he should be 2 by
0°2 2137 even according to ¥"2 (see the &3 on the 2"v). This proves that we only take into account the 77°py that
initiates the Naw 21’1, but not other actions which do not cause naw 21°7. See MW Y7 °10 ,7™W 2" ,w"R7 '0N.
8 According to XY 12 in the case of Nawa ©°3 213 the 213 would certainly be 27, since the actual 7Py is the last step
he takes going out of the *"771 into the 1"77, the previous 7Py (the n7237) was canceled during his walk, since T77n
M7 TMWI, so every step is a new 771°p¥Y 717, The 213 acquired the item when he picked it up, however the naw 21n
begins later when he steps out of the *"717 into the 7"771. Similarly according to us since the 77°p¥ begins after he picked
it up more than three o°mov and the 71213 1P happened before, we cannot say fRXIT 7Y 7727,
? See footnote # 4.
10 See ap mx @ w ya1p (and mnbw XO2).
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